MIAM I-DADE’ ’ MIAMI-DADE COUNTY, FLORIDA
N METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

KML Windows, Inc.
23 Buchanan Court
London, Ontario, Canada N5Z 4P9

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHT).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Aluminum Clad Outswing Wood French Door-Impact

APPROVAL DOCUMENT: Drawing No.1228A, titled “Aluminum Clad Wood French Impact Doors”, sheets 1
through 12 of 12, dated 5/13/03, prepared by W.W. Schaefer Engineering & Consulting, P.A., signed and sealed
by Warren Schaefer, P.E., bearing the Miami-Dade County Product Control Renewal stamp with the Notice of
Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 03-0625.03 and, consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 04-0211.07

Expiration Date: April 26, 2009
Approval Date: March 25, 2003
Page 1




KMI. Windows, Inc,

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED .

A. DRAWINGS
1. Manufacturer’s die drawings and sections.
2. Drawing No.1228A, titled “Aluminum Clad Wood French Impact Doors”, sheets
1 through 12 of 12, dated 5/13/03, prepared by W.W. Schaefer Engineering &
Consulting, P.A., signed and sealed by Warren Schaefer, P.E.

B. TESTS
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with installation diagram of outswing wood French doors with different
shape top, with & without sidelites, prepared by Architectural Testing, Inc., Test
Report No. ATI 02-35026.01, dated 2/19/03, signed and sealed by Steven Urich,
PE
2. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of outswing wood French doors with different
shape top, with & without sidelites, prepared by Intertek Testing Services NA
Inc., Test Report No. J99022770-231-07, dated 10/11/00, signed and sealed by
Douglas Keith Tucker, P.E Submitted under NOA# 00-1030.02
3. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of outswing wood French doors with different
shape top, with & without sidelites, prepared by Intertek Testing Services NA
Inc., Test Report No. J99022770-231-08, dated 10/11/00, signed and sealed by
Douglas Keith Tucker, P.E. Submitted under NOA# 00-1030.02

NOA No 03-0625.03
Expiration Date: April 26, 2004
Approval Date: October 09, 2003



KML Windows, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS
1. Anchor Calculations and ASTM-E1300-98 analysis, dated 6/18/03, prepared by
W.W. Schaefer Engineering & Consulting, P.A., signed and sealed by Warren
Schaefer, P.E.
2. Engineering Calculations prepared by W.W. Schaefer Engineering & Consulting,
P.A, dated 8/28/00, revised on 8/28/00, sheets 1 thru 12 of 12, signed and sealed
by Warren W. Schaefer, P.E. Submitted under NOA# 00-1030.02

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
Submitted under NOA# 00-1030.02
1. Notice of Acceptance No. 03-0916.02 issued to Nebula Glass International Inc.
for “Glasslam Safety-Plus Laminated Glass” dated 10/23/03, expiring on 9/9/08.
2. Notice of Acceptance No. 02-0828.16 issued to E.I. DuPont DeNemours for
“Dupont Butacite ® PVB” dated 11/21/02, expiring on 12/11/05.

E. STAMENTS
1. Laboratory compliance letter for Test Report no. ATI 02-35026.01, issued by
Architectural Testing, Inc., dated 2/19/03, signed and sealed by Steven Urich, P.E.

G. OTHER
1. Notice of Acceptance No. 03-0625.03, issued to KML Window, Inc., Aluminum

Clad Outswing Wood French Door, approved on 10/09/03 and expiring on
4/26/04.

Approval Date: October 09, 2003



7 DRAWN BY: CHECKED B8Y:

- 74 3/16” MAX. OSM
— ponnm M~ " MAX. OSM K.P.5. WW.S,
—F @ / 37 5/8 0 1/4” TAPCONS WHEN INTO s |Mosi/0s
CONCRETE HEAD (2 PER STRKE PLATE)
L & N L @@ NO. 10 SMS (WHEN INTO ) 27 "
VINYL NAIL FIN WOOD HEAD (2 PER STRKE PLATE 5
EXT EXT o7, | (OPTIONAL WITH lﬂl ; @ ‘m @ @ OTioaL
RECTANGULAR : - TRAPEZOID . | SHEAR SCREW @ i , v v C (OPTIONAL WITH %
SEGUENTAL_HALF ROUND RANCLE | T LaTion) | >\ SEE "CORNER DETALLS 5 SHEAR SCREW
— g \\/ ON SHEET 8 ™ ‘ , \ INSTALLATION)
A TN S S M—— ~ Y ) M ., IS S 2
= = ] U = =
NN 7 A 1| % s /) | g .
EXT. REV, DOUBLE DOUBLE EXT. ' / | ' / FIHERN o g
48A ¢
SEGMENTAL RECTANGULAR PARTIAL SEGMENTAL 48A Al / \U‘ N - / 'jj] [u] -
NO. T2 S | SHEAR SCREW Hik mc;,o 182Ug}rz|s . SHEAR SCREW i g ‘ 2
INTO BUCK
(2 DR T0P SEIEN EEELRLAEPE%,ON H (2 PER TOP SEIEN EIP?IELRLAELIZ(\-IJEION i
HINGE) : i HINGE) : i \ . >
4 FOR CLIP INSTALLATION Ve o FOR CLIP INSTALLATION e o
, ' / | / | \ 2
DOUBLE EXT. DOUBLE EXT. . _ ' | 9 ' : j [ /// E . =
HALF ROUND QUARTER ROUND S . P / ACTIVE l S @__/,.— /24 778" | \ g e
= il @ L = e i MAX. D.L.O. | H L © 2 o ogg
. ¢ . = . . =z Z ~=0
2 a I 5@z I mactve ) miacTve Pl 2 B | €550
= (9 g /AN 5 % || 8 %58
w0 24 7/8" T 2 | ‘ <4 = | g5z .
I % - SNTEEISL s — > \a MAX DLO | 0 2 > v o 31A & 32 ™ l ° 8 H Q | DE ‘0_1
DOUBLE DOUBLE EXT. REV. o L g . \ I g g a 3 CDO o
TRAPEZOID PARTIAL SEGMENTAL ~ -t STA & 32 \t-- Yy _-. \\]\ﬁ . I
I Q 3
SHAPES CONSIDERED AS NI 1L A\ el i ik 3
=Z I
PART OF THIS APPROVAL 0.5 \ , 1 |l Y =k g
WITHIN 4" OF 34 / "/ i * Al N\ :/ ) h y | § ;S
R L] @-—‘\ o - e a a <
NOTE: FOR COMBINATION OF || |GORVERS & . | N W] e N gE -
UNITS. SEE MULLION N AN Hy ¢ . NO. 10 SMS N HLH ¢ < / : o 3
DRAWING NO. 1003E ° N ° 9 WITHN 4" OF |- S ~ ° 8l & &af
A - - CORNERS & - b N Ty / N 3 PR
& 1003F UNDER nl R il WX, 12" 0. | [ D i L =| 2547
SEPARATE APPROVAL o ' f : 3 i i | &= 3.8
i o I o il N 3| &S 43
- I 4 - i 3 Ol L Z25,
: & : :
ALLOWABLE DESIGN LOADS i \” i ‘ i UL Tl - 2 > 3%
T T H Y ¥ I 1131 5184 Y Z <(Z 55"”
— S IS 23R
+65 PSF/-70 PSF T d | " - | 4 11 INO o sws wien o B3 (859 251
1/4" TAPCONS WITHIN 4" OF - FE?, 238
. VA " @ z
FOR JAMB FASTENER EMBED & EDGE EXTERIOR ELEVATION WHEN INTO CONCRETE EXTERIOR ELEVATION PLATE) : |5 8
DISTANCE REQUIREMENTS SEE SHEET 3 SINGLE RECTANGULAR FRENCH DOOR NO. 10 SMS WITHIN 4 OF DOUBLE RECTANGULAR FRENCH DOOR 1/4" TAPCONS WHEN INTO
SCALE: 3/4"=1-0" . 10 SMS WITHIN 4" O SCALE: 3/4"=1-0" CONCRETE SILL (2 PER
GEN ERAL NOTES WHEN INTO ‘¥OOD FRAMING =
,C:D o~J
1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED FOR 5. ALL JAMB TO BUCKING SHEAR FASTENERS MUST PENETRATE BUCK A CT REVISED % oo
DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN ON THESE DRAWINGS. MINIMUM OF 1 3/8”. IF PENETRATION IS LESS THAN 1 3/8" THEN PRODUCT RENEWED B . e Florida L -
2. BUCKING, OPENINGS & BUCKING FASTENERS MUST BE DESIGNED & SCREW LENGTH SHALL INCREASE AS REQUIRED. Biorepty g with the Florida Bt Cote rl =
INSTALLED TO WITHSTAND WIND LOADS AS DETERMINED FOR EA. APPLICATION, 6. THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANGE WITH Asseptonse No 04 -02) e N %ﬁ; of 2
3. ALL HARDWARE frc E/;SLTEN;RS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS THE  FLORIDA BUILDING CODE (FBC). Exg PRil-Z6, 2009
& MAY NOT VAR ESS SPECIFICALLY MENTIONED ON THE DRAWINGS. 7. THIS PRODUCT HAS BEEN TESTED IN ACCORDANCE WITH FLORIDA -y
4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS BUILDING CODE PROTOGOLS TAS—201, 202 & 203 FOR LARGE MISSILE et £ . B
PROPOSED FOR WATER, AR, IMPACT, CYCLIC & UNIFORM STATIC AIR IMPACT. STRUCTURAL & CYCLIC TeSTING. ey Division 1928A
PRESSURE TESTING IN CONFORMANCE WITH FLORIDA BUILDING CODE ' TR
PROTOCOLS TAS 201, 202 & 203 FOR IMPACT DOORS. 1 o 12

! o



—

74 3/16” MAX. OSM
1/4" TAPCONS WHEN INTO
PER STRIKE P
FIN SCREWS CONCRETE HEAD (2 PER STRIKE PLATE
NO. 8 X 1 1/4" SMS NO. 10 SMS WHEN INTO
OR 1 5/8" DRYWALL WOOD HEAD (2 PER STRIKE PLATE)
SCREWS WITHIN 4" V(I)NYTL NAIL FIN
OF CORNERS & MAX. (OPTIONAL WITH
10 1/2" 0. SHEAR SCREW
- INSTALLATION)
SEE "CORNER DETALS”
ON SHEET 8 —\
/'NO. 10 SMS
WITHIN 4" OF
A CORNERS &
MAX. 12" 0.C.
NO. 12 SMS , o
INTO BUCK
(2 PER TOP SHEAR SCREW Lk! 4
Fince) INSTALLATION N
SEE OTHER ELEVATION :
: FOR CLIP INSTALLATION 3 1/2
3 C ’ | S
2 %y INACTIVE |l ZIACTIVE Y B !
= hine 24 7/8" | = T 3
* MAX. D.LO.T , =
> <C
= AN LI @ 31A & 3240 || A, z
©0 4 i \ | ‘ ! :
™~ /__5 R N Q g
' \ NI 5
' Ng . AT / . &
@ N I / »
@@ Gy S
NO. 10 SMS )
n T \ - / = -}
WITHIN 4" OF HANDLE N E <
CORNERS & al N H/J'/ % =
MAX. 12" 0.C. .
: ] N it // .
i U \ lﬂj 'LﬂJ / i
el °LS A | I | 4 E
i X T -
g o N N ,
122 E =
t RN = 1A
HINGE , N2 K=
! 1T [ | i
i NO. 10 SMS WHEN INTO

1/4” TAPCONS WITHIN 4" OF
CORNERS & MAX. 12" O.C.

&9

WHEN INTO CONCRETE

NO. 10 SMS WITHIN 4" OF
CORNERS & MAX. 12" 0.C.
WHEN INTO WOOD FRAMING

EXTERIOR ELEVATION
DOUBLE EXTENDED QUARTER ROUND

SCALE: 3/4"=1"-0"

NOTE: FOR COMBINATION OF
UNITS. SEE MULLION
DRAWING NO.
& 1003F UNDER
SEPARATE APPROVAL

WOOD SILL (2 PER STRIKE
PLATE)

1/4” TAPCONS WHEN INTO
CONCRETE SILL (2 PER
STRIKE PLATE)

1003E

ALLOWABLE DESIGN LOADS

+65 PSF/~70 PSF

74 3/16” MAX. OSM
1/4” TAPCONS WHEN INTO
CONCRETE HEAD (2 PER STRIKE PLATE)
NO. 10 SMS WHEN INTO
WOOD HEAD (2 PER STRIKE PLATE) VINYC NAL FIN
(OPTIONAL WITH
SHEAR SCREW
SEE "CORNER DETALS” INSTALLATION}
ON SHEET 8 —\
T \ P37
== S
\ 51 J \\ EEE f
: CLP / i : ,
48A N NSTALLATON. AN
SEE OTHER \
NO. 12 SMS | ELEVATIONS FOR \ \ El
I(r\éTODEBRU(%(};P - SHEAR SCREW | L_@ \ B
! INSTALLATION
HINGE) \ // | /// \\ .
S 24 7/8" | N
- ___i T MAX. D.LO.T | | +H =
y o INACTIVE | =| ACTIVE N 2
< / | Q=
= A I O
x 4 ' \ &
N «\31A&32~ 0 a e
2 (39 £ \J 3_ 2 s
~ s \ m / e
FIN SCREWS 3 \ ¢ 1 | LA Y, ) @
NO. 8 X 1 1/4" SMS N I Y,
R 1 5/8" DRYWALL ’ f_@ Wl
SCREWS WITHIN 4 £ \ | A, =
OF CORNERS & MAX. . HANDLE 4 g%
10 1/2" 0.C. H \ gl - INSTALLATION
: 1 i + CLP 4" FROM
§ < \ i :" £ /// | CORNERS & MAX.
£ Tl \ T / = 12" 0.C.
! S1S S| | 4 E
U o < N N
@ - il N >
‘—-z "RiN% - = _
HINGE . Dl L , .
| f i I | |
- NO. 10 SMS WHEN INTO
- WOOD SILL (2 PER STRIKE

1/4" TAPCONS WITHIN 4" OF
CORNERS & MAX. 12" 0.C.
WHEN INTO CONCRETE

NO. 10 SMS WITHIN 4" OF
CORNERS & MAX. 12" 0.C.
WHEN INTO WOOD FRAMING

&9
649

EXTERIOR ELEVATION

DOUBLE TRAPEZOID FRENCH DQOR
SCALE: 3/4°=1-0"

PRODUCT RENEWED
as complying with the Florida
Buiding Code

FOR JAMB FASTENER EMBED & EDGE
DISTANCE REQUIREMENTS SEE SHEET S

Acceptance No {4
Expiration Date

By AL

Bade Product Contm

PLATE)

1/4" TAPCONS WHEN INTO
CONCRETE SILL (2 PER
STRIKE PLATE)

PRODUCT REVISED
a5 complying with the Florids

Bulding Code
Accentance No 09~ ()04 03
Eapleation Date 4.

e Product Contrel

DRAWN BY:
K.P.S,

LALR

CHECKED 8Y:

S.

DATE:
05/13,

/03

REVISION DESCRIPTION

o)
a
¢
N
T}
—Z
s X
O S«
Z 53 o
G oS
;ZQ’
o3 =
x| £ Ltx
RS
< o Bz
=2 O
- x M
[®) Nz
< | o
o 'a:-‘ S
= g %
I g |
S |z
P
i
L. o 2
alz 3
S| g fa
g | d<o8]
20t 3
a % AT .,
5 Ll.ldjm?_
o| o238
= | w3 %8
S| 23¢9
Wen 211
r <Z Jgp
S Lo =3~
,—_‘D QOO .@ |
sl EALENE Y]
o< 15 -ﬂ‘é?ué_?
H aF 3%d
£ % . g
5 o= a
d
Q
e
13)
[t
=
o
Lt
O

DRAWING NO.

1228A

2

SHEET NO.

oF 12

_ |



—

DRAWN BY: CHECKED 8Y:
K.P.S. W.W.S.
PLOTI:= 16 DAgg:ﬂ 3/03
ALLOWABLE DESIGN LOADS "
+65 PSF/—70 PSF
5
37 5/8" MAX. OSM 37 5/8" MAX. OSM NOTE: FOR COMBINATION OF g
27 UNITS. SEE MULLION z
, , VINYL NAIL FIN ~ DRAWING NO. 1003E 8
SEE "CORNER DETAILS 4" MAX
ON' SHEET. 8 MAX (OFTIONAL i & 1003F UNDER
\/ TN _ ) INSTALLATION) SEPARATE APPROVAL g
=1 > =] S I= [T
I \\ I  m— g
\ 1 l/ Il :_. —_
/ [o)]
N N
EdY | N @
I9]
1) . iy E z
] SHEAR SCREW , . / CLIP ) ?S,IAIAWF'%M JAMB FASTENER MIN. S %( N
INSTALLATION INSTALLATION CORNERS & MAX. EMBEDMENT Z o52-
SEE_OTHER SEE OTHER 12" 0.C. NO. 10 SMS INTO BUCK = 1 3/8" G _Z~
NO. 10 SMS \ |l ELEVATION FOR . L] ELEVATION FOR N NO. 12 SMS INTO BUCK = 1 1/2" ) z zo |
WITHIN 4" OF CLIP INSTALLATION T = SHEAR SCREW - 1/4" TAPCON INTO CONCR./BLOCK = 1 1/4 S z5%
n Z T= ©
CORNERS & INSTALLATION g s 5z
S MAX. 12" 0.C. |s . : . : S S5
Q =) -
- FIXED 4 FIXED JAMB_FASTENER MIN. et
- K a 1 e ’ -
g : H - EDGE DISTANCE el Z
E: " ° Z « : = WOOD JAMB & BUCK = 1” sl 8
= 17} Y = |5 >
i 8 CONCR./BLOCK = 2 g Z
—Q ‘ @ ‘ . ol [ !
™~ ] o > 0 o g % g
Te] ” bt
™~ - 24 7/8 . K) ] ] = 2 x M
— 24 7/8 o il R
, MAX. D.L.0. . , MAX. D.LO. ) @ al 2 z_3
FIN SCREWS Q1 &  IzF
NO. 8 X 1 1/4” SMS = | Weg Rl
4 In — || OR 1 5/8" DRYWALL o | B2E.8
; ., = < SCREWS WITHIN 4" S| B g3
OF CORNERS & MAX. o Z 35
10 1/2" 0.C. = | G578
’ / // =) b: 202
[ ° ¢ next
/ I / - =z %Z FJu8
T T 2 Y u3 1058 280
=1 L
12" MAX. : 12" MAX. |’ |127 MAX. 2 EE R L
R 2
Q o a
] Fot o= "
I 1 I 0_‘
& vax. & e, I‘ ! & Max.J z &
2
1/4" TAPCONS WITHIN 4" OF 3
1/4" TAPCONS WITHIN 4" OF  NO. 10 SMS WITHIN 4" OF EATERIOR_“LEVATICN @ CéRNERS & MAX. 12" 0.C. PRODUEE RN orin  sscompivion s §
. 25 complying witd mpiying with the Florid Z
CORNERS & MAX. 12 0.C.  CORNERS & MAX. 12° 0. EIXED P@\JLEEL 30901;\’ SIDELITE WHEN INTO CONCRETE dngCose Biiting Code ’ o ze
=1 - LECPIARC Yrlil iz wergpinnce Mo -
WHEN INTO CONCRETE WHEN INTO WOOD FRAMING / @ NO. 10 SHS WITHIN 4" OF oot s AGEIL 26 Exvimntine mmﬁ%ﬁfa = §
CORNERS & MAX. 12" O.C.
EXTERIOR ELEVATION WHEN INTO WOOD FRAMING By e/ Add Leseoe “%wm,, e (T
FIXED PANEL DOOR/SIDELITE ey inbatgn e Fevabuct Contro 1228A
SCALE: 3/4"=1"-0 ———
3 or 12

_ |



T

—

N " DRAWN 8Y: CHECKED BY:
1/4” MAX. FRAME MAX. OSM 1/4" MAX. kes. | wws
e e PLOT: DATE:
SHiM (TYP.) KEEPER PLATE HELD TO ASTRAGAL SHiM (TYP.) iz | os/1/0s
WITH 2 NO. 8 X 1 3/4” SMS
MIN. 2X4 PT / 1 WoOD BUCK | 2
WOOD BUCK @3 BY OTHERS
BY OTHERS @ . N
a
®
%
R UTALAVANY INSIDE 47 A
INSIDE &
® - ®
L4 v ‘{T\\(‘ .\1 AT Y YIFIdT 114‘:; \>“~. 3 g
° N Af( A \\, L$ 4 E -
v : T N \ A \ -
: T | | N o
L Y — a
{ o
D
OUTSIDE ILICONE_ SEALANT \(B6) OUTSIDE 2
& SCREEN SPLINE 2 238«
~ofo
30 ORW g -3
39 52—
SECT!ON 0| 2558
» & BACKER ROD Z I
opTionaL “\J 6ALTEB SEE "GLASS DETAILS { A BY OTHERS S| = g%a\
ON SHEET 9 SCALE: HALF FULL SizE \_4 8| ¢ @z5
[SHEAR SCREW INSTALLATION| SEE "OPTIONAL JAMB DETAIL” ON SHEET 9 | CLIP INSTALLATION | | €00
FOR DIRECT MOUNT TO BLOCK OR CONCRETE 2l 3
1/4" MAX. 1/4" MAX. s 2
SHIM (TYP.) ] ; FRAME O.S.M. =7 SHIM (TYP.) Rk 3
®
1 g E
MIN. 2X4 PT Y n
WOOD BUCK ole . ¢
BY OTHERS gl & fer
= | W< Rl
INSIDE & O \ ol &>5.8
) \ © CEZ éé
AILARRYRRARARINNLY { = h.l: >.,_-§§
| &0 @ 2| 9z &
=) [ 7 \ 43 1,38 3%
a ) | / SO / , =1 et
K \/\ '/ q\\x’ SARMRERY l oy rovvi IIA\>\ \\ K / (—ZD< 5‘ ;.ﬁ %EL‘J
RALVULIALIALLRL NS R L N RN 2221001012 = 127 < %
: i e [N/ A 2 CENE:
L 4 }\ &; V 3 ; : \ \ / / 7_0
—Y— <::)—’ . 5 %\ B
29 \-SEE "GLASS DETALS 38 e N\
NS N e o
siicone seaant ON SHEET 9 16A 168 L PRODUCT RENEWED = \ oy
opTiona & SCREEN SPLINE 'OUTSIDE 2/ %iﬂfgii?séfﬁwmm:%ma7 S \‘\\ g
Aceeptancs No Dé~ . — %
SECTION /&N SECTION /T2 pesineon e :
SCALE: HALF FULL SIZE\ 4 / SCALE: HALF FULL SIZE@ Ny e |
Rieod, Prads Erogiuet Con 1
[SHEAR SCREW_INSTALLATION| [ CLP INSTALLATION | misgoet ST RS

4

or 12




N

ATTELRTCRITPIN D

<BRAY

.

D
——q

BN

..

SEE "GLASS DETAILS”
ON SHEET 9

Gt
OPTIONAL -
& BACKER ROD
BY OTHERS
16A)16B (39 "““\V\
2 NN
AN
a—I>
A\ f
OUTSIDE A0 %
;

,—._...l.__._ﬁ
&
e
~AN/
<CYTErY
//
e o
Sj_._.__/

HihsE
N
Ny

(= /!

/ //
S

P L AL

s

J\\\/\ Y

7
Y}
\\

NIk -
=
[ZATATIVTITITED-
I

o0b |

§:
N
5 @

INSIDE

MIN. 2X4 P.T. WOOD
BUCK BY OTHERS (TYP.)

1/4" MAX.
[ sHim (TYP.)
=
%2}
o
%
<
=
L
=
<C
o
L
1/4" MAX.
[ SHIM (TYP.)

<

SECTION

(B0

SCALE: HALF FULL SIZE

NI

[SHEAR SCREW INSTALLATION]

SEE "OPTIONAL JAMB DETAIL” ON
SHEET 9 FOR DIRECT MOUNT TO
BLOCK OR CONCRETE.

a7 T

&

. b da

N N
¢ . .
. g

. ;}-4»
. G .

Y«

-

@

MIN. 2X4 P.7. WOOD

& \ BUCK BY OTHERS (TYP.)

1/4” MAX.
SEALANT _—_—_ i [ SHIM (TYP.)
L —®
/X 1
@
69
RN
- [ouTsioe CQ }1 INSIDE
A z
| |
: 7= '1}3/ : §
SEE "GLASS DETAILS™ [i ¥ 7§ \'
ON SHEET 9 —)
k\- ////_Z / @
EECE
!:"//// /// / I @ @
® = ?‘{
AE
B— L N
19 T A9
29 A .
7 /4 1,22 "
m / //§ \ ,——Z‘ /L ' FS%:A <¥¢§.)
b S
~ S TR T [
_i%)i PRODUCT RENEWED

SECTION

(82

SCALE: HALF FULL SIZE

NG

-

CLIP INSTALLATION

J

as eomplying with the Florida®®
Buiding Cede

Espirvation Date _ L 7

/’/ fral
¢t Confg

W.W.S.

CHECKED BY:

DATE:
() 05/13/03

REVISION DESCRIPTION

ALUMINUM CLAD WOOD FRENCH IMPACT DOORS

[0)]

a

pe

N

wn

—Z

s

O S5«

z 30

£ 093

G _%

=

£z

o 25

z =2

£ iz

= 92

oz

= @)

< m

N

g 8

g z

g 3
z
<
=

(519) 681-7012

8895 N. MILITARY TRAIL; SUITE C-204

& CONSULTING, P.A.

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775~4802 FAX: 561-775-4803

B3 |
R
=
S P
al (&}
ui
A\\ ol
o0
8lem \ w2
EE ¥3
&= N T
S o
@ \ nz
—=| & =
o PN\
Y AN RNY =a
ol \
= \ \ &
= C &
—— =
DRAWING NO. |REV.
SHEET NO.
5 oF 12

~



—

ORAWN gY: CHECKED BY:
S R MIN. 2X4 P.T. WOOD MIN. 2X4 P.T. WOOD LN N L
@ o BUCK BY OTHERS (TYP.) @___»1 4o BUCK BY OTHERS (TYP.) i=2 | os/13/03
OPTIONAL | z @‘ 5
] 1/47 MAX. @ 1/4”" MAX.
4 SHIM (TYP. / SHIM (TYP.)
SEALANT - [ sHiM (TP) SEALANT WA= § L é
& BACKER ROD — : & BACKER ROD —— ?——Jm = 2
BY OTHERS 7 £ BY OTHERS z S——g———F i
. r v _{ . - \“ Ipd i i g
168 v 5 168 == =\ ; 5
@_—/ @ @——/' = N 2
® =\ 9 @ g
a
%) &9 2 &9 5
\& 7
—— | g Bxo
.0Zzo0
OUTSIDE ‘ INSIDE OUTSIDE INSIDE 2287
b 4mn o = _5
[a]
g g nl| z 20
x| £ Ex
2 Z 3| a2
° . 0l s"5n
— - > /T T T > =X 0
( ) = ( ) E ol vz
[T | Q
N w q u =I5 aQ
LR : BN LS o
) . L) | T E " = T E 51
SEE "GLASS DETAILS '— AR SEE "GLASS DETAILS —— i ¥ \ § ! g B
l v \\. I AN \ & =
ON SHEET 9 L 7 7 ) ON SHEET § k *“‘/"—/—* } -1 g 8
.’/ ,/f 7 Y ‘/ 7 © - go ul')
\_;/'_4'_1/_/’_1/ @ .."__"__f"-/_"_././ @ S| & Ik
) 1Y T T < LIJ:?I,_
y,\/>\;\ ) @ ' ///\\; A @ Z o i 8
Co—J/// @ // é/;’ 57 3| 8¢ gg%
/ A 1 7oA =
= < @ ) : o O £ e8|
\ \ A _ \F 2| up £
. 3 el i |/ = Z 30
vl \‘g \ 23 >r_* \ 5; (n%o §5§
S RN N E NN 0 T
h o N o = fepmile
CNE N N ‘ @ 2 5 ——“ PRODUCT RENEWED 2 < >z B gz
. _ 2 as complying with the Florida = 2., &
20 7 ) 2 A Buiding Code N EES &
" 7l L » Acceptance N o
q » /@ 1/4" MAX. 2 /‘@ 1/47 MAX. gy mﬁé%;ie ] i
. 3 \ / ~ [ SHIM (TYP.) d | { SHIM (TYP.) - { o
] o z| 1 ril
39 13§ Ole= N\ &g
: L Fm N\ =z
B~ Em>“~\l\ F\\ ;m
o= W\ |g®
m;‘ \ “\ ézE
SECTION /30 ,. SECTION -
. DY \ SEE "OPTIONAL JAMB DETAIL" ON o=
SCALE: HALF FULL SIZE  \_ 6 SHEET 9 FOR DIRECT MOUNT TO SCALE: HALF FULL SIZE 6 12728A
BLOCK OR CONCRETE. e
|SHEAR SCREW INSTALLATION| | CLIP INSTALLATION | 6 o 12

_ |



—

DRAWN BY: CHECKED BY:
K.P.S, W.W.S.
T MIN. 2X4 P.T. WOOD ; MIN. 2X4 P.T. WOOD LI
S \q; : aucr By oTeERs () & X v' \4\ \q\ BUCK BY OTHERS (TYP.) T
OPTIONAL | z ) Sk L ) &
- g 1/4" MAX. 20T @ 1/4" MAX.
z SHIM (TYP.) SHIM (TYP.) g
SEALANT ; z + SEALANT __// ;/ L 2
& BACKER ROD X757 zsy & BACKER ROD < :
DI BrZRe T @ ea
BY OTHERS ﬂ z 2 i% @ BY OTHERS 2 ‘//; @ :
—1 7 TS - =\ "] 2
164168 resa Ty I/ res=(0/ T )/ ] 2
39 g\ 1 29 §\ 1 ¢
DOW 1199 iQ‘ (49 DOW 1199 /;Q
SILICONE SEALANT ‘_/ e SILICONE SEALANT @___/ e
& SCREEN SPLINE %\ \ 65 & SCREEN SPLINE 2 A\ &&»\ \ (69 @ 2
a
O~V &) (BN RRNaN N
> @ 24 >< @ 2
- v X
) 2 859
NiN: A G oz~
s 4! — 4 <
OUTSIDE A SHP- INSIDE ; OUTSIDE ADEASTL INSIDE £z351
4 ‘ 8 Zs59
El ; El : 2l z %Eo
z z 8| %252
o o a 3' m%m
I —_ 5 _T _— ¢ b= X ™M _v
—_— - %: —_— - <§E 2 . NCZ)
( Y \] wJ ( » ) L CEL g Q
TR 2 T 2 =k 2
N = \ = T |g S
I =~ SHT | & I > :H | = % %
" » | \\E \" ‘uERI @ ” » } Y Aav: | @ i &3
SEE "GLASS DETAILS — v\ ;\ SEE "GLASS DETAILS 7 ¥ 5\ o -
ON SHEET 9 St ON SHEET 9 R vy al & . ¢
N N [ 1 3| £ 1
v /7 7L @ L LT @ =3 BnPELY
A ] D i Z ulg
@ T Sta ; -\% - % gD: ;m‘:
I & = vy & 3| B,
& / @, L8 // = | @588
9 \;(\X VK S| L3 0%
e W o Z| £z s
53 S B= [0 58 28%
L Y v 2= Z"’o ig‘;
DOW 1199 N 28 /@ DOW 1199 N :\\;5 Rl L
SILICONE SEALANT SO @ SILICONE SEALANT S PRODUCT RENEWED e 5
Z 2 l . Y = is w:m;:séyﬁw with the Florids = - -
' 7'/§ N ™ /—@ 1/4" MAX. § N 1/4" MAX. ." N
Ing: ~ [ SHM (TYP.) A B [ SHIM (TYP.) B3 N
@ wa R 1 LSS f BN (£
< . H] R Jleo N N {89
O . RS N E o N \22
E - = H= O\ [
L AN
= :
SECTION SECTION ;
m SEE "OPTIONAL JAMB DETAIL” ON DRAWING NO. | REV.
SCALE: HALF FULL SIZE \ 7/ Zfiger o FOR DIRECT MOUNT T0 SCALE: HALF FULL SIZE \ 7 _/ 1298A
SHEET NO.

[SHEAR SCREW INSTALLATION] BLOCK OR CONCRETE.

[SHEAR SCREW INSTALLATION]

7

oF 12




. » DRAWN BY: CHECKED BY:
NOTE: THESE SCREWS MAY BE REPLACED 3/8x1/2" WOOD 11412 s e
WITH 1/4" TAPCONS WHEN FRAME IS DIRECT TENON MORTISED =2 | 0513703
MOUNTED TO BLOCK OR CONCRETE OPENING INTO STILE & RAL
(SEE "OPTIONAL JAMB DETAIL" ON SHEET 9) & GLUED WITH PVA u
WOOD GLUE . °
D (FULL DEPTH OF RAL) 2 7/8°+
TN g WOOD GLUE &
LN e e _ JAMB TO JAMB
8 o N T RAIL z
g %/ / ( %
b o /—(::) e Q
- - _ o // % ¢f /%/ z
S — P e — ‘ L g
A |E Ef// 12//:/ COUNTER SINK— RABBET JAMB TO g
A AN B R G BOLT 2 N JAMB CORNERS ,
— ] ]‘f\,:— TN & CAP WITH g 1/4" DEEP g
\ Ll UN Y X 1" DIA. WOOD ®
5N0.8X3 SMS-\& :\ DOWEL & PVA » \ = U
SCREWS PER (PANEL AN CLUE 9 o
KEEPER BAR (2 INTO i STILE CLAD_TO CLAD DETAIL S
STILE & 3 INTO RAIL) /‘§, vd @ JAMBSCISE, JNATP‘A SB DETAL SCALE: N.T.S. ';‘)
/\ : \ @ @ . L . d EZ
N Y » 2%
"] ! JAMB CORNER DETAILS £ 352
5NO. 8 X 3" SMS L= PANEL KEEPER BAR. STILE TO TOP_RAIL CORNER DETAIL @0 z‘Z"T
SCREWS PER PANEL\ (SEE DETAIL THIS SHEET) SCALE: N.T.S. AMB & CLAD § éo‘&;
KEEPER BAR (2 INTO —N—"N\_ ¥ — wl| 2 256
STILE & 3 INTO RAIL al : ™ x| = 5
TN ) S 2| 25k
gl . 1214t : = al goz5
SN (: :)_..‘ P/ ¥m™
% L~ ! i . } / 5 o
U bt - 1 e - N '_4-
—E STILE > ol LT S
~ bt ) Lt // / 1/4"i (Z_J g
Wi =
% ‘ 8 / 4 @ M
I COUNTER SINK L “1 o S
3 2 LAG BOLTS 2" e S| & &9
S & CAP WITH v S| & g8
& " DIA. WOOD {l = | U<k
S DOWEL & PVA 3/8%1/2" WOOD 2 al &% 3"
SN GLUE TENON MORTISED 3 X THRESHOLD & BUMPER S| &S a48
N INTO STILE & BOTTOM L N Of LZE85.
] RAIL & GLUED WITH = | W358
PVA WOOD GLUE N 2| up ;]
LS 1,28 25
SECT|ON @ STRIKE PLA‘TES/_\ ;MEO'TH%OXUGSH/ 4T.HRESHOLD % 8 X 2" SMS SCREWS THROUGH Zz' %8.: Z%é
_ SASH STILE TO RAIL CORNER DETAIL CLADDING & INTO JAMB JAMB & INTO THRESHOLD s 3= 8%Y
SCALE: HALF FULL SIZE \/ SCALE: N.T.S. CLAD SCREW BOSS (EXTEND JAMB TO THRESHOLD BASE) s |8% x
0" THRESHOLD TO JAMB CORNER DETAIL u]
3.25" 4.25" | 2.25 PN o0
2.00" 0218" DIA. HOLES 2.50" 0.312"~ — -—0.312" SR by
0.75"— — (7/16 C—SINK)—\ ] ——0.75" ro.ssz" t = 0.078" 3o )
' @ : FO 687" é PPODJC’E‘ RENEWED PRODUCT REVISED E f\ W
J— < ui
e - -0 ER o i ad U. s g vieernian B2 NN\ |2
_} Accgpumu No%-o%_ > 2 g
oy <0625 DA HOLE FOR FLUSH BOLT STRIKE S 0158 DA—0. 517 oot E‘%I 421,«440, ,
. - B
PANEL KFEPER BAR DETAIL ‘ T Madiond DRAWING NO." [REV.
' ’ P
1/4" X 1" A36 STEEL NICKEL PLATED OR PAINTED BAR @ 2 EC%E PE%TSETEE?ETAIL phidd Dade Froduct Caatrol 1228A
SCALE: HALF FULL SIZE SCALE: BALF FULL SIZE SHEET NO.
: 8 or 12




-

" 3/8" "
- =3/8 - ¥ ——  |-——SEE GLASS OPTIONS BELOW 4
60 \ 60 @ e 1" 2 1/16" —=] ~—15/16
SCHNEE MOREHEAD \ . 3/8"
40 S—M 5054 BUTYL \ 10 @ [”
TAPE SEALANT \
59 6X7 (1/8" X 1/47) \ 67 (59 @e | 1}”
EXTEND P.ET. FILM 23 \ |
- UNDER STOP MIN. 1/2 ) \ ] -6 — - O
1/2" MINA r( NN 1/2" MIN— R A 1/2" MIN.— !/W \ | HOLES FOR NO.
: o3/ o j— 72 (1 ROW OF &)
R B = i m RO RO CINN = s e RO DTE
A \\\ \ - \\\\ H N \\ l
A& & IR &9 N ‘
59 Y @ A W |
T\ o ST e
1\ . *
\ \ fa) O_/ \ ’//\ 2”
W FILLER (SAME WOOD \ FILLER (SAME WOOD N \ \ FILLER (SAME WOOD ! :
. : AS STILES) WIEIAN AS STILES) ] AS STILES) ? I
TYPICAL GLASS & GLAZING DETAIL TYPICAL GLASS & GLAZING DETAIL TYPICAL GLASS & GLAZING DETAIL
SCALE: 3/4 FULL SIZE SCALE: 3/4 FULL SIZE SCALE: 3/4 FULL SIZE b 2" 127
GLASS OPTION 1:  3/8" THICK NEBULA SAFETY-PLUS GLASS OPTION 2: 3/8" THICK DUPONT GLASS OPTION 3: 9/16" THICK LAMINATED GLASS WITH SAFLEX l x
(5/32" AN/0.06" RESIN/ 0.01 DLUBAK "STEP GLASS” PVB (1/4" AN/0.09" PVB/1/4" AN) &
PET/0.06" RESIN/5/32" A (1/8" " Q- — -
e/ /5/32" AN) (1/8" TEMPERED/0.120 GLASS OPTION & 3/8" THICK LAMINATED GLASS WITH SAFLEX |
PVB/1/8" TEMPERED) PVB (5/32" AN/0.09" PVB/5/32" AN) |
" I n
2" MIN. 1/8" THICK 2
SR : 1/4" TAPCONS 4" FROM CORNERS
, & MAX. 12" 0.C. (SEE SHEET 3 ,
1/4” MAX. FOR EMBEDMENT REQUIREMENTS) - ©
~ TO REPLACE ALL NO. 10 & 12 ___HOLES FOR NO.
SHIM (TYP.) - JAMB & STRIKE SCREWS 6 SCREWS (6 i
, TOTAL AS SHOWN) | 2
v CONT. P.T. SPACER |
T\ @ =~ AS REQD -
. w (MIN 3 1/2" WIDE) ? — -
L @ 1*,.

L

Iy | ¢ -

16A

SECTION

(6

'SCALE: HALF FULL sizE \ 9 J

SIMILAR FOR CLIP MOUNT

V‘ e

¥ T~—MIN. 2X4 P.T.

168

BUCK BY OTHERS

OPTIONAL JAMB DETAIL _FOR DIRECT

(39 STRIKE_PLATE DETAL

NICKEL PLATED OR PAINTED A446 GRADE A STEEL

SCALE: HALF FULL SIZE

PRODUCT RENEWED

as complying with the Florida

Buiding Code

Acgceptance No 4=

7!"75' 009

Expiration Datef)

MOUNT TO CONCRETE OR_BLOCK

(TYP. ALL UNITS)
SCALE: 1/2 FULL SIZE

Contro)

PRODUCT REVISED
ns complying with (e Fluridg

Buiding Code
Acceptunce No 0D 0625 0D
q

Expiratigp Prate 0412,

By
Miarhi Dade Product Control
Division

CHECKED 8Y:
W.W.5,

DATE:
05/13/03

DATE

8y

REVISION DESCRIPTION

NO.

DRAWING TITLE

ALUMINUM CLAD WOOD FRENCH IMPACT DOORS

KML WINDOWS, INC.
23 BUCHANAN COURT
LONDON, ONTARIO, CANADA N5Z4P9
(519) 681-7012

MANUFACTURER

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A.
8895 N, MILTARY TRAIL; SUTE C—20+4

PALM BEACH GARDENS, FL 33410
PHONE: 561—-775~4902 FAX: S61-775-4903

CONSULTANTS

CERTIFICATION

JUN 18 7

7

WARREN W./SCHAEFER, P.E.
P.E. NO. 44138

DRAWING NO. |R

1228A

2

SHEET NO.

9 or 12




4.562

/—VENEER

>

§$§R<§§>si$

\___PONDEROSA PINE LAMINATED IN 5 BLOCKS
LINEAL_WOOD FRAME JAMB

(PONDEROSA PINE)

4.250

S——

i\/////,//

0.963
WOOD SUBSILL
(PONDEROSA PINE)
1.750
\\ \
0.937 \
;__ﬁ\ \ 1.828

WOOD DOOR

2.468

EXTENDER
(PONDEROSA PINE)

v

@ DOOR THRESHOLD

2.000

NANANAVANAN

ASTRAGAL CAP

(PONDEROSA PINE)

CAP_BUMPER
(PONDEROSA PINE)

0.250

DRAWN BY: CHECKED @Y.
K.P.S. W.W.S.
4.562 -— PLaT: DATE:
‘ - V1 05/13/03
0.703 "
L 0.703 2
0625 703 o 5
— «l 0.500 ] - 0.500
LINEAL WOOD RADIAL WOQOD £
RADIAL_WOOD FRAME JAMB GLAZING STOP GLAZING STOP g
(LAMINATED VENEER) (PONDERQSA PINE) (LAMINATED VENEER) °
Q
g
2.187 2.500 ,
2.187 g
i i g
‘ ! ] B L 1
’ T b— 0.500 | &
0.500 I / / i - P l B N
: L -~ AN NRREE 2
RADIAL DOOR STOP S ‘ N O B
(4)LINEAL_DOOR_STOP (LAMINATED VENEER) 5 | REPE» £ 8253
(PONDEROSA PINE) n 1 N g 225
i : ! ! ‘ O <C ~—
] S | R 8 253
\- \ v ! ‘ L L1 Z2 3
1.750 A SRR | S| ¥ Q<m
RN 4.062 BN - 21 23z
R N N \ ’ A ; = o
(\ﬁ o \_\ \ \\ } ; i 5 ' m .
i — L ! < |x =
| W] Q
= | 3 .-
- 3 - 3
/ 2125 | 1] Sz
- : - ——— ° ’ } i % b
\\ \ \ \\ 1 I @ - 5
\\» \ 3\ \ } (&) =z + ?
1.629 N \ 5 N \ ‘ | o o Sgp
AN N AN \\ ! ’ | o H . LI),’;'T
NN ] | Zaes
| i (&) ;d‘n
— ) % 56 543
&) Zz 3z"
N s.750 xE &5
< = Ll _J Q
4.750 / 1750 @M_/ML 3 Lga %é,'
= (LAMINATED VENEER) ERREEEER
= 20 i
3 [E0© Zga
DUCT RENEWED o< |5 - §¢:
\ zf gmpgymgwam the Floride % (z; LA
\ \ Baiding Code 7 5 o= &
Accoepianes e

1

(1) RADIAL_DOOR RAIL
(LAMINATED VENEER)

LINEAL TOP DOOR_RAIL

(PONDEROSA PINE)

—

Eaxplration Date,

PRODUCT REVISED
as complying with the Florids
Buiding Code

Acceptance Nnm;joﬁ >+ 03
Expirap Dmemr’L{o

stiarhi Dade Product Control
Divisinn

W
o
3 i
2 S\ \ |¥
o e Qo
o 192
o x
>0
Q = %
= g
DRAWING NO. | REV.
1228A
SHEET NO.
10 oF 12

~



—

1.750 i

9.000

4

DOOR_BOTTOM RAIL
(PONDEROSA PINE)

ORAWN @Y
K.P.5.

CHECKED BY:
W.W.5.

4750 1.750 _.1 [~ 0.425 PO s
e — ] "
e : : N : F
rx / / \\‘ _,/ \\ // D 0,078 0.810 -
/. / /\\ /o N / : m—[_—ﬂ
/ /,/ \\ /, / / \\\ / / l .
1.750 / / S~/ S~/ @ JAMB CLADDING OPTIONAL
/ N // / \\ g / (6063~T5 ALUMINUM) @ JAMB CLADDING 8
/ / \ /o / / 5 (6063-T5 ALUMINUM) g
i [ [/ A g 0.425 —1 - g
_ — 0.360 .
WOOD_STILE F_—f— - :
0.860 —— (PONDEROSA PINE) ' -2.834
| [ ‘ g
~N
[~ 0850 0.062 2
0.916 1026 ¢ 58w
-~ ogo
0.916 8.922 g g%T
o % .z
(17)RADIAL_GLASS STOP o (19 DOOR SILL 2| 2585
(6063~T5 ALUMINUM) (6063-T5 ALUMINUM) Q| 82
(18)LINEAL GLASS STOP A
(6063-T5 ALUMINUM) 4.558 5] ¥R
ol [ )
' 1.413 5.672 = £
.743—] 090 i
—_— —[ (SR E
Z 2
0.078 0.812 | T ' | 0.937 vl N 3
| 332 \\ J 0.0s0] 0.050 — J —1{1~-0.060 S g Sof
_t —{—0.050 z | ¥< Al
al % 3e®
(20 THRESHOLD RAIL CLADDING S| &g gk
EXTENDER @Fﬁ"&%’go“ B & EXTENDER 2| 55 %5
(6063—T5 ALUM[NUM) m (3003"‘H14 ALUMINUM) —~=—0.050 ‘—— 1 % ga Ex?
- = Zz 2o
42 258 280
0718 — DOOR_STILE L 1T
: CLA — |37 8%y
—-L 4L (6063-T5 ALUMINUM) DOOR BOTTOM § &z z
6" -9 } PRODUCT RENEWED RAIL CLAD o
0.125" DIA. HOLES '——TT—\ QQ.(B_IQE (3003—H14 ALUMINUM) o
N RAIL CLAD 7 = £a
1.50 ZPSEPNN PR (3003-H14 ALUMINUM) 6,2009 2 S 93
75| & e ¢ 16 GAGE ¢ ® 5y /] 4 o oo\ ¥
- | " g PRODUCT REVISED e Fuj
1.187 i 0525“,,4 gA complying with the Flor S z*
| \€> ¢ @ ® @ €>/ ‘ 3 uidingi; (yfnf@m ¢ Florida °© g %
(27) NAILING FIN LATION CLIP Lozs on woie dENE b ereas | >
(VINYL) @8 ”\ggzl-_f\/[ATNlZED STEEL) by (U g tliy eare | Tiooga |
Fy = 33 ksi MIN. INT. THRESHOLD TRIM ki Dade Product Contro DTN
(PONDEROSA PINE) ! 11 o 12

|



—

DRAWN BY: CHECKED B8Y:
. K.P.S. W.W.S,
MATERIAL LIST Ao =
T MATERIAL LIST ST REF FASTENER MINIMUM 1 05/13/03
PART | REF. ;
NO. | NO. DESCRIPTION NOTES NO. | NO. DESCRIPTION NOTES EMBEDMENTS: y
n -_— =
PARTS & EXTRUSIONS 40 - #6 X 1 5/8" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 6" O.C. 1) ALL TAPCONS £
1 |PF1010 | LINEAL JAMB WOOD MEMBER SEE NOTE 1 41 - #6 X 3/4" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 12" O.C. MUST HAVE A MIN
. >
2 | PF1231 | CURVED JAMB WOOD MEMBER LAMINATED VENEER 42 | - | #8 X 2" SMS SCREW 5> © EA RECTANGULAR JAMB CORNER CONCRETE /BLOCK -
3 |PF1358 | WOOD SUBSILL FOR THRESHOLD | SEE NOTE | 43 - | #8 X 1 1/2" SMS SCReEw 3 @ EA. RADIUS JAMB CORNER EMBED = 1 1/4" |
4 | PF1351 | LINEAL WOOD DOOR STOP SEE NOTE 1 44 - #6 X 3/4" SMS SCREW 2 @ EA. JAMB CLAD CORNER INTO CLAD SPLINES 2
5 | PF1351 | RADIAL WOOD DOOR STOP LAMINATED VENEER 45 - 3/8" X 5" LAG BOLT 1 @ TOP STILE & RAIL, 2 BOTTOM STILE & RAIL 2) ALL JAMB TO &
6 |PF1008 | WOOD LINEAL GLAZING STOP SEE NOTE 1 46 - #12 X 3/4" SMS SCREW 4 @ EA. HINGE INTO JamB (excLuomc Top Hince) BUCK SCREWS MUST E
7 |PF1008 | WOOD RADIAL GLAZING STOP LAMINATED VENEER 47 - #12 X 1 1/4" S.S. SCREW 4 © EA. HINGE INTO STILE HAVE A MIN. BUQ,K 2
8 |PF1169 | WOOD BOTTOM RAIL EXTENDER SEE NOTE 1 48A - [#12X2 1/2" S.S. OR BRASS SMS 2 @ TOP HINGE ONLY THRU JAMB INTO BUCK EMBED = 1 3/8 4
9 |PF1362 | DOOR THRESHOLD CAP/BUMPER | SEE NOTE 1 48C | = [1/47=20 X 3/4" MACHINE SCREW 2 © TOP HINGE ONLY (WITH T—NUT) AT NO. 10 SCREWS
10 | PF1507 | ASTRAGAL CAP SEE NOTE 1 49 - | #10 SMS SCREWS (1 3/8” MIN. BUCK EMBED) WITHIN 4" FROM CORNERS & MAX. 12" O.C. & 1 1/2" AT NO.
11 | PF1130 | RADIAL DOOR TOP RAIL UAMINATED VENEER 50 | - | #8 X 1 3/4" SMS SCREW 2" FROM ASTRAGAL ENDS & MAX. 12" O.C. 12 SCREWS.
" N
12 | PF1131 | LINEAL DOOR TOP RAIL SEE NOTE 1 51A - #10 SMS SCREWS (MIN. 1 3/8" BUCK EMBED) 2 THRU EA. STRIKE PLATE, JAMB & INTO BUCK LENGTHEN SCREWS g
13 | PF1489 | WOOD ASTRAGAL LAMINATED VENEER 518 - 2 d&" T1Ap1c/c)4:3 ((:v(y):ECNR Ir\éLOBECDO)NCR.) 2 THRU EA. STRIKE PLATE, JAMB & INTO CONCR. | A5 REQ'D TO OBTAIN N
) ) |
14 {PF1132 [ WOOD BOTTOM RAIL SEE NOTE 1 . =z
52A - #6 X 3/4" SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB REQD MIN EMBEDS G Zg
15 |PF1130 | WOOD STILE SEE NOTE 1 Zz 209
528 - #8 X 1 1/4" SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB £ O3 =
164/8| PF1001/1002 | JAMB CLADS 6063—T5 ALUMINUM ” U% 2
" — "
7 Tr017 TRAGAL GLASS STop 505315 ALOMINM 53 1/4" TAPCON (WHEN INTO CONCR.) 2 THRU EA. SILL STRIKE PLATE & INTO CONCRETE 2231
18 |PF1458 | ALUMINUM LINEAL GLASS STOP 6063—-T5 ALUMINUM (MIN. 1 1/47 CONCR. EMBED) FASTENER MINIMUM S 2Z5m
538 - #10 SMS SCREW (MIN. 1 3/B8" FRAMING EMBED) 2 THRU EA. SILL STRIKE PLATE & INTO FRAMING EDGE DISTANCE: & Zz %g ©
19 |PF1086 | 4 9/16" OUTSWING DOOR SILL 6063-T5 ALUMINUM . - - sl 0%~
54A ~ | 1/4” TAPCON (WHEN INTO CONCR.) WITHIN 4" OF CORNERS & MAX. 12" 0O.C. WooD = 1” 3 Sk o
. : = M
22 |PF1295 | INTERIOR THRESHOLD TRIM SEE NOTE 1 548 | - | #10 S/STL SCREWS (MIN. 1 3/8" FRAMING EMBED) | WITHIN 4" OF CORNERS & MAX. 12" O.C. o
23 |PF1172 | BOTTOM RAIL EXTENDER CLADDING | 3003—H14 ALUMINUM - - " ol b o)
55 #10 X 1.5" SMS SCREW (SIDE JAMB TO MULL PLATE) | 4" FROM CORNERS & MAX. 12" O.C. < g a
24 |PF1135 | TOP RAIL CLAD 3003—-H14 ALUMINUM - . . Z 2 z
56 - #10 X 2 1/2" SMS SCREW 4" FROM CORNERS & MAX 12" O.C. ¢ 0
25 |PF1134 | STILE CLAD 6063—-T5 ALUMINUM - i Tl o
57 - #8 X 1 3/4" SMS 3" FROM CORNERS & MAX 12" 0.C. oz S
26 |PF1136 | BOTTOM RAIL CLAD 3003—H14 ALUMINUM - . Z |3
57A - #8 X 1" SMS SCREW 3" FROM CORNERS & MAX. 8" O.C. L
27 |PF1214 | VINYL NAIL FIN OPTIONAL WITH SHEAR SCREW INSTALLATION = & n
PF1326 578 - #8 X 2 1/27 SMS SCREW 3" FROM CORNERS & MAX 12" O.C. al 2 . ¢
< Sod
28 | SK1031|GALVANIZED 16 GA. STEEL GALVANIZED STEEL, INC. (Fy = 33 ksi MIN.) SEALANTS S1 & S
INSTALLATION CLIP WITHIN 4" OF CORNERS & 12" MAX. O.C. 58 - DOW 995 SILICONE FOR 1/2" GLAZING BITE = '-i’( u"’é
=a E
30 {SK1156 |FIVE KNUCKLE FULL MORTISE HINGE| STANLEY NO. FBB191; STAINLESS STEEL 59 - DOW 1199 STRUCTURAL SILICONE ADHESIVE CONT. CLADDING TO JAMB & DOOR STOP TC JAMB Q1 8. ac
(4 PER DOOR PANEL) . S| &0 543
31A B 0 ARDWAR OTHER Q n:é éé
~ |G-V US TRIM SERIES 2000 HANDLE| USE WITH PART #32 LOCKING HARDWARE (BRASS) | g5 — | NORTON NORGLAZE .0625" X .437" GLAZING TAPE POLYOLEFIN FOAM W/ ACRYLIC ADHESIVE = | W3 §g§
1 i ) +
318 | SK1415 |W&F MFG. SERIES 1200 LOCKSET |INCLUDES HANDLE & SINGLE DEAD BOLT (BRASS) P — TREMCO 440 BUTYL TAPE GASKET TRM OFF AT EDGES (TYP. AT JAMB CLAD CORNERS 2| 42 i=)
32 - |G=U 3-POINT DOOR LOCKSET US TRIPACT DOOR BOLT SYS. (USE WITH #31A) 3 |, 55 537
65 |PF1371 | FRAME WEATHERSEAL SCHLEGEL =2 1200 203
33 |SK1193 |KML INTERIOR FLUSH 8OLT 1 TOP & BOTTOM EACH DOOR PANEL INTERIOR -2 z 5 a3%
r " - M S .-
34 | SK1597 {0.945"X2.25"X0.078" STL STRIKE |1 AT EACH FLUSH BOLT STRIKE (HEAD & SILL) 66 |PF1026 | 0.415" X 0.489" RAINSKIRT SCHLEGEL EXTRUDED FLEXIBLE COPOLYMER < FF 8%y
PLATE (Fy = 33 ksi MIN.) NICKEL PLATED STEEL g §;’ g
35 |SK1598 |4"X12" X1/8" STEEL STRIKE PLATE |LOCATED AT CENTER/TOP OF HEAD JAMB
(MIN. ASTM A446 GRADE A STEEL) |NICKEL PLATED OR PAINTED STEEL ui
a
FASTENERS . -
z| = M
36 - #8 X 1 1/4” SMS SCREW OR WITHIN 47 FROM ENDS & MAX. 10 1/2" 0.C. EIES t:;,g
1 5/8" DRYWALL SCREW WITH FIN Sloe 5g
: - - PRODUCT RENEWED PRODUCT REVISED ol Q2
37 #8 X 1 1/47 SMS SCREW 2 PER CUP INTO BUCK (1 EA. SIDE OF BUCK) ALL WOOD USED WITH TESTED UNITS IS MINIMUM GRADE 2 . compiying with the Florids as complying with the Florida El Ex
- . . i o i
58 #8 X 5/8" PAN HEAD SMS SCREW| 3 PER CUP INTO JAMS PONDEROSA PINE. ALTERNATE WOOD SPECIES ACCEPTABLE E;‘:‘:;;',ﬁ"cﬁ“ﬁo_og, 03 o é“
39 - 3/8” LONG STAPLE WITHIN 3° FROM CORNERS & MAX. 8" 0.C. WITH THIS PRODUCT ARE THE FOLLOWING MINIMUM GRADE 2 Expiratian Date [y - %
WO0DS: 1. MAHOGANY 5. DOUGLAS FIR By -
e > - ORAWING NO. EV.
2. OAK 6. MAPLE ?)t’ﬁii:nl;)du“muc‘ Control 1998A
3. CHERRY 7. TEAK SHEET NO.
4. CYPRUS 12 oF 12

|



